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\/R I - Rew‘sion A No CarcuratoR

Cowdale these  in  standaed Form

a) (3x10) X (2)(!0); i
b) (5x10°2) x (7xlo) ¢ s
Ec) (l/-xloé’)x (@-8x 10°) ez 22

d) (bx07) (3xi0™*)

 €) 8 x 10'?)
(2 x 10%)
| F) (6x 0"%)
(3 x1072)

3) (8xi0 %) x 400

Make fhe lefter in fhe bracket  the new SaéfeC)L F fhe J[orMUE.

- a) m= 3x -/ &% (=)

b) ‘IJ = 3(&3 - 2) (y)

9 Jo¢ = 2FE C:x)




3) Find the pist 3 benms of bhe seguene
20"+ |

¢)  Find the n'th fem fomm& for Pese  Seguences

a) 743,19,35,31,.. -

b) 25, 23,21,19, 17, - - - .

| 5 Seb up a par of simulbaers egualion  for Hhone
) diaammsp and salvé Hum o pnajux ancfo(:j.

s [T

Perimeber = o Perimelar = 36

27

-

4

Sphere
cone radius R
raclius
The volume of the wne s He same as  bhe volume 4 bhe

Shere-
Fig R in lerms o . i



